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Note :
AT
(i) Answers must be iuritten either in English or in Marathi.

(ii)

(ii1)

(iv)

(v)

(vi)

(vii)

I ST o wEReT e

Question No. 1is Compulsory. Of the remaining questions, attempt any four selecting one question
from each section.

¥¥T FHIF 1 Sifrard g AR FEAYLT HIET A GET T T AT T T g
Il sTavas g

Figures to the RIGHT indicate marks of the respective question.

FAFIHEIT 37 TeATT FeA= O S,

Number of optional questions upto the prescribed number in the order in which they have been
solved will only be assessed. Excess answers will not be assessed,

S A e GEve g9 e Qe AqeTT JITHE TUE e, SR
I TUEET SR e,

Credit will be given for orderly, concise and effective writing.

TeTeH ], T T TRUTERRE forararg 49 e wiEge,

Candidate should not write roll number, any name (including their own), signature, address or any
indication of their identity anywhere inside the answer book otherwise he/she will be penalised.

QIR 7% TG HE 79 s749 @) e W 3l

In case of any ambiguity, English version will be considered as authentic.
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Answer any four of the following (10 Marks each) :
eAtet eht T I9-WEAr IaL fore

(a)

(b)

(©)

Why did Amartya Sen say that ‘Social security is an essential requirement of
social justice in India’ ?

WA TS TATITe! WIS G € STavas TR 3118 319 319 7 i el ?

Is public distribution systern a welfare measure ? Why ?

AES % Tt Tonelt 31 oAl SUE & w2 R 2

Describe the status of Indian Women in the Society. How is work participation
of women affected thereby ?

VAT Tt =2 HHTSITC e LIS F97 . < o= s aeyreR %1 9oy g ?

Discuss the sources of financing Panchayat Raj system in India.

What do you mean by decentralization of power ? Why is it necessary for micro
level planning ?

HeieAT TaehlshUTaE SOV SVl A4ay Bl 7 GeW Taeadldl e §
SFIAF 3T 7

SECTION - A
faamm- A

Answer the following sub-questions :

e s-mre S fore

(@)

(i)  Explain in brief, the drain of wealth under British rule.

(ii) What were the views of Gandhiji on empowerment of women ?

St WerRTaTEa TSt g we g ?



(b)

(d)

(a)

(b)

()
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Explain the term ‘Rural Unemployment’. Which are the factors responsible for 10
rural unemployment in India ?
HIT FUSHTR & Fehed WY FT.  TRATI TH0 SUSHRE SaEER 3@ w926
IO TR ?
Explain the factors that are responsible for growth of services sector in 10
Maharashtra.
TERIPIIe! Ha &= g5 FROTA el 925 f&FwR .
Write the objectives and significance of Employment Guarantee Scheme of 10
Maharashtra.
HeRIEr=A TS gt st 3fed anfor west et
Answer the following sub-questions :
et 39-HeiE S foe
(i)  What is Swadeshi Movement ? 5
W Heses TS FE 2
(if) ‘Poverty eradication is a difficult task in India’. Do you agree ? Justify your 5
answer.
U < FRferT=] e w3 TR, S A Hanl WeHd e i 7
T S WA .
What are the recent estimates of poverty in India ? 10
TRATe SREfawrs STefiheia e F19 s1ed ?
Why is draught management necessary in Maharashtra ? i0
HERIPd 3TaNU] ST o Ta9geH 38 ?
Trace the reasons for failure of cooperative movement in Maharashtra during 10

(d)

recent years.

sfefteial auid TeRISE TehR] Telaei=al STqae=n qriar =1,
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(b)

(d)
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SECTION - B
fawmr - B
4.  Answer the following sub-questions :
@ 3Y-geit S foe
(a) Why is organic farming more beneficial to consumers and Indian farmers ?

I T, IUNE T UG Saeaiaet ifes SR Sl 3NE ?

Is it true that the supply of agricultural credit in India is inadequate ? Why ?
R 1 o qRare STq 1% § B 31 FE 2 F 2

Why is floriculture development in Maharashtra recording faster growth ?

HeRTETE Fol St farehra S w1 8 T ?

(i)  Which infrastructure facilities are required for faster rural development ?
STeTeTdl T fareRraETet v g gfan snavas o ?

(i) What are the uses of biodiversity ?
e fafaeds oM wER w2

5.  Answer the following sub-questions :

e ST TR e -

()

(b)

(c)

What is the relationship between agriculture and industrial structure ?
it afor SR T A TR ey T AR ?

Trace the regional disparities in agriculturai growth in India.

IR FH gETS ST wefkr foraw=n sTern .

Discuss the main problems of irrigation in Maharashtra.

TIDMER PR e R e e s WA TEE T VR | el s e Telminirane aren nodestin St Auerimnensl Lo S et i e ar e AHm  dhiemseled fun et moamdl Femaiaiam o o
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(i)  What are the objectives of Rural Infrastructure Development Fund (RIDF) ?
Trftor gy gfaen fawm frfet (RIDF) 3fed Siowt smea ?

(i) What are the obligations on WTO member countries regarding domestic
support to their agriculture ?

ST Fidien SIiaa SMER (domestic support) TrvamsTe SAfds AR
o= (WTO) HEH S¥IaK HivR! seH 3Aeq 2

SECTION - C
fawm - ¢

Answer the following sub-questions :

e Su-ei St o

(2)

(b)

(d)

Describe in brief, the role of private sector industries in Indian economic
development.

REr1 e ToerTard TTer SEe SanT= e SSH [ 9 &,

(i)  What are the causes of industrial sickness in India ?
TRaTdE ST STTRTust ROl 0Tl 3T ?

(i) Describe the nature of agro-industries in Maharashtra.

TR FHt I T FUr F0.

Explain the concepts of money supply measures and liquidity measures in India.

ITdTdtel YA QuaSarE anfor Iracr= AT RIvRT TR ?

What are the problems of inland water transport in India ?

Rl STaTia STeTaTageh oA IV T 377ed ?

Answer the following sub-questions :

T -y I fore -

(@)

‘Growth of services sector in India is a favourable condition for generation of
employment’. Do you agree ? Justify your answer.

TRATEe e & ggt €, IR e stget afifeerd s, sAma an vt wed
STRIG 1 2 STYed] ST JHT .
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{b)

(@)

6
Marks

_ T
(i)  Why is not liberalization a favourable environment for Indian small scale 5

industries ?

YRATT 1Y SRSt AR & STIH ey 1 AT 2
(ii} What are the problems of de{felopment of agro-industries in Maharashtra ? 5

RIS ST Seirie faeram Siowen Sue 3 ?
Describe the classification of financial institutions in India. 10
What are the recent policies of the Government of India with regard to rural 10
infrastructure development ?
T YRS Gieui= faeraTe MRa WERE! STemea SR e e ?

SECTION - D
faumr - D
Answer the following sub-questions :
el Su-geAret 39 foe

(i)  Write the major objectives of India’s five year plans. 5
{ii) Describe the meaning and nature of social justice. 5

[T =T e I ey Jo %,
What is the role of Planning Commission in Indian economy ? 10
YR sTeieaesrd T i i &r eng ?
Explain the importance of EXIM bank in India’s foreign trade. 10
TRATS faSwr SRrde wfam (EXIM) i Tew fagg s
What do you mean by ‘fiscal crisis" ? How can it be corrected ? 10

(d)

fordii =iy Wwursl /™ ? d Y gE5 hial 94 2



Answer the following sub-questions :
TR I9-TeE! Il forel
(a) (i) Write the fundamental features of planning in India.

AT ST gasg afem feet

(ii) What do you mean by capital output ratio ?

WIS IAEA O A1 GEHeaeed AYH w1 Ay gl ?

(b) What are the functions of Statutory Development Boards ?

Juifr 99 He=mEl S8 S0l 2T 2

(c) Why is not Indian rupee fully convertible till this date ?
SSTATTAR VIR €941 Y0l qied-1 @1 el ?
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